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Note : All questions are compulsory. Marks are alloted to each 

question is given against it. 

1. 	Expand the following : 

(a) EIP 

(b) MBO 

(c) IEDC 

(d) ITP 

(e) IEP 

1x5=5 

2x5=10 
2. 	Answer the following in one or two sentences : 

(a) Write any two goals of Special Education. 

(b) Write any two differences between special 

education and integrated education. 

(c) Define 'Educational Inclusion'. 

(d) Write any two responsibility of a 'Resource 

Teacher' 

(e) Give two examples of Co-Curricular 

Activities. 
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3. 	Write short notes on any four of the following in 

200 words : 	 5x4=20 

(a) Principles of School Management 

(b) Factors affecting preparation of time table 

(c) Principle of Normalization 

(d) Strengths and Limitation of Inclusive 

Education 

(e) Educational needs of children with HI 

4. Answer any one of the following in 

500 words : 	 1x10=10 

(a) What is supervision ? Differentiate between 

inspection and supervision. Discuss the role 

of supervision with special reference to 

inclusive education. 

OR 

(b) What do you understand by early 

intervention ? Discuss its need and 

importance. What the role a special 

educator should play in EIP ? 

OR 

(c) Discuss Systems Approach of Management. 

What are the responsibilities of Board of 

Personnel in managing an inclusive 

education institution ? 
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